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= 𝐥𝐨𝐠𝒂 𝐱 = 𝐲        →  x=𝒂𝒚, 𝒂 ≠ 𝟏  , 𝒂, 𝒙 > 𝟎                   

 قاعدة :

  اذا كان𝑎m = an          فانm=n         . 

  اذا كان𝑥m = ym  أنبحيث𝑚 ≠ 𝑥عدد فردي ,فان   0 = 𝑦 

 

 

 

 في كل مما يأتي xأوجد قيمة 

 

𝟏.   𝟓𝟑𝐱−𝟐 = 𝟏𝟐𝟓                                                                 

→  53x−2 = 53 

→ 3𝑥 − 2 = 3   →    3𝑥 = 3 + 2      →    3𝑥 = 5    

→     𝑥 =
5

3
 

 

𝟐.  𝟐𝐱−𝟏 = 𝟏𝟔                                                                       

2𝑥−1 = 24 

→ 𝑥 − 1 = 4 

→ 𝑥 = 4 + 1      →   𝑥 = 5 
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𝟑.  𝟑(𝟐𝐱) = 𝟏𝟐                                                                   

 

→ 3(2𝑥) = 3. 22 

→ 2x = 22 

→ 𝑥 = 2 

 

4.  (√𝟔𝟒
𝟔

)
𝒙+𝟐

= 𝟏𝟔 

((64
1
6))x+2 = 42        →         (4

1
2)x+2 = 42 

→ 4
1
2

𝑥+1 = 42            →             
1

2
𝑥 + 1 = 2 

1

2
𝑥 = 1              →          𝑥 = 2 
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5. (
𝟏

𝟓
)

𝟕𝒙−𝟐
=(𝟏𝟐𝟓)𝒙−𝟏 

 

                           →  (5)−7x+2=(5)3(𝑥−1) 

5−7x+2 =  53x−3                

→  −7𝑥 + 2 = 3𝑥 − 3                      

−7𝑥 − 3𝑥 = −5                 

−10x =  −5         

x =
1

2
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 في كل مما يأتي  xأوجد قيمة 

 

𝟏.  𝐥𝐨𝐠𝐱 𝟔𝟒 = 𝟑 

                          → 64 = 𝑥3 

                           → 43 = 𝑥3             → 𝑥 = 4 

 

 

 

2.𝐥𝐨𝐠𝟒 𝒙 = 𝟑 

→ 𝑥 = 43 

→ 𝑥 = 64 

 

 

3. 𝐥𝐨𝐠𝟒 𝟔𝟒=x 

→ 64 = 4x 

→ 43 = 4x 

→ x = 3 
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𝟒.  𝐥𝐨𝐠𝒙 𝟏𝟐𝟓 =
𝟑

𝟐
  

→ 125 = x
3
2 

→ 53 = x
3
2 

→ x = (53)
2
3         → x = 52 

→ x = 25 

   

5.  𝐥𝐨𝐠𝟖(𝒙 + 𝟓) =
𝟏

𝟑
 

→ x + 5 = 8
1
3 

→ x + 5 = 2 

→ x = 2 − 5 

→ x = −3 
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 التالية :حل المعادلات 

1.𝐞𝐱𝟐
= 𝐞𝟏𝟔 

→ x2 = 16 

→ x2 − 16 = 0 

→ (x − 4)(x + 4) = 0 

→ x = 4 , x = −4 

 

2.𝐥𝐨𝐠𝟑 𝒙 = −𝟐 

→ x = 3−2 

→ x =
1

32
 

→ x =
1

9
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3. 𝟑𝒙 = 𝟑𝟓𝒙−𝟔 

 

→ 𝑥 = 5𝑥 − 6 

→ 𝑥 − 5𝑥 = −6 

→ −4𝑥 = −6 

→ 𝑥 =
−6

−4
=

3

2
 

𝑥 =
3

2
 ⸫ 

 

4. 𝐥𝐨𝐠𝒙 𝟐𝟕 = 𝟑 

27 = x3 

33 = x3 

→ x = 3 

5. 𝟓𝟑𝒙 = 𝟓𝟒𝒙−𝟐 

3x=4x-2 

4x-3x=2 

𝑥=2 
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6. 𝐥𝐨𝐠𝟐(𝒙 − 𝟕) = 𝟑  

 

x − 7 = 23 

x − 7 = 8 

x = 8 + 7 

→ x = 15 

 

7. 𝟐𝟓𝒙+𝟑 = 𝟏𝟐𝟓𝒙 

→ 52(x+3) = 53x 

→ 2(x + 3) = 3x 

→ 2x + 6 = 3x 

→ 6 = 3x − 2x 

→ x = 6 
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8. 𝐥𝐨𝐠 𝟓 + 𝐥𝐨𝐠 𝒙 = 𝟐 

       → log(5𝑥) = 2 

  → 5𝑥 = 102 

     →
5𝑥

5
=

100

5
 

→ 𝑥 =
100

5
 

→ 𝑥 = 20 

 

9. 𝟓𝟑 = (𝒙 + 𝟐)𝟑 

→ 5 = x + 2 

→ x = 5 − 2 

→ x = 3 

 

 

 

 

 

 

 



 

 

10 
 

 

10. 𝐥𝐨𝐠(𝒙 + 𝟓) = 𝐥𝐨𝐠(𝟐𝒙 − 𝟕) 

log(𝑥 + 5) − log(2𝑥 − 7) = 0 

log (
𝑥 + 5

2𝑥 − 7
) = 0 

𝑥 + 5

2𝑥 − 7
= 100 

𝑥 + 5

2𝑥 − 7
= 1 

𝑥 + 5 = 2𝑥 − 7 

2𝑥 − 𝑥 = 5 + 7 

𝑥 = 12⸫ 

 

11. (
𝟏

𝟑
)

𝒙+𝟒
= (

𝟏

𝟑
)

(𝟑𝒙−𝟓)

 

x + 4 = 3x − 5 

3x − x = 4 + 5 

2x = 9 

x =
9

2
 

 ⸫ x = 4.5 
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12. 𝐥𝐨𝐠(𝒙 + 𝟏) − 𝐥𝐨𝐠(𝟐𝒙 − 𝟕) = 𝟎 

log(
x + 1

2x − 7)
= 0 

x + 1

2x − 7
= 100 

x + 1

2x − 7
= 1 

x + 1 = 2x − 7 

2x − x = 1 + 7 

  x = 8 

 


